3L [
HI g, LB =2

=
=

= 8Y/HMIZ olo|x]

o

Hn
2

AE‘||°|E'|| El 1.4305.
EM OpR2]:

AEAX A
AHQIHA AR AXY.

HH.

MEHO|UE ECIE 2T 20| 2 US EMEHECZ AFIZEE E8
WLICH O|2M AFZE &4 gio| &35 E0{% = 8t o 2 1™
40| E & ELct.

ANZE Q%= h11 O|L{o{0F §FL|C}.

S EEoE FTHEICIXQICE Q- 7+ BEEE 2alistK| o1 ZHEt
st W2 A Mx|7F 7S E.

ARAK| BiHLt 2ot Z2 O E QA= 2l E2-E 2o TE LIALE
2 A& 35Hoq AI=E EQl Hof 2318 £+ QU&LICH AFZEQI Fo| THE
& AIZ[X| et &R =0|E £0{ 2T S EHSZ &1 oFHFHA|
ZEIE £ U&LICH

R T
L
= D
—— |
' ~ |
/’ % \\ I~ :
\ A ! .y
4
| v
~—~— / L
D1

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/2



[ ]
— —_ = = I
S Y, AL I AHQIA|IA AL, HalH, MED X3
== g9
Sugy, 2d ola|A AL HalY, HEM X5
=2 WS =AM AEl7[ B C D D1 D2 H L L1 R T
(DIN 912)
K2224.01001 AR 1.0503 9 M3x10 M3 10 28 12 14,5 8 - 4
K2224.01201 AES 1.0503 11 M4x12 M3 12 30 13 15 8 31,8 4
K2224.01401 AE 1.0503 11 MO04X14 M3 14 32 14 15 9 339 4
K2224.01501 AR 1.0503 13 M5x16 M4 15 36 15 19,5 12 394 55
K2224.01601 AES 1.0503 13 M5x16 M4 16 38 16 20 13 394 55
K2224.01801 AE 1.0503 13 M5x16 M4 18 40 17 21 125 422 55
K2224.02001 AEl 1.0503 15 MO06X16 M4 20 42 18 21,5 14 46,4 55
K2224.02201 AES 1.0503 15 M06X16 M4 22 46 20 22,5 12 481 55
K2224.02501 ES- 1.0503 15 MO06X16 M4 25 48 21 23 12,5 508 55
K2224.02801 AE 1.0503 15 MO06X16 M5 28 54 225 29 18,5 - 7
K2224.03001 AE! 1.0503 15 M6x18 M5 30 56 24 28,5 18 58,6 7
K2224.03201 ESE 1.0503 15 M6x18 M5 32 58 25 29 18 586 7
K2224.03501 AEl 1.0503 15 M6x18 M5 35 60 26 30 20 61,6 7
K2224.03801 AES 1.0503 15 M6x18 M5 38 66 27 37 27 - 7
K2224.04001 AEl 1.0503 15 M6x18 M5 40 66 27 37 27 - 7
K2224.04501 AE 1.0503 19 M8x25 M6 45 76 31 41,5 28 794 85
K2224.05001 AE 1.0503 19 M8x25 M6 50 82 345 435 29 84,2 85
K2224.01002 AHQIPA AR 1.4305 9 M3x10 M3 10 28 12 14,5 8 - 4
K2224.01202 AEQlE|A AE 1.4305 11 M4x12 M3 12 30 13 15 8 31,8 4
K2224.01402 AHQIBA AR 1.4305 11 M04X14 M3 14 32 14 15 9 33,9 4
K2224.01502 AHQIPA AR 1.4305 13 M5x16 M4 15 36 15 19,5 12 394 55
K2224.01602 AEQIE|A AE 1.4305 13 M5x16 M4 16 38 16 20 13 394 55
K2224.01802 AHQIBA AR 1.4305 13 M5x16 M4 18 40 17 21 125 422 55
K2224.02002 AHQIPA AE 1.4305 15 MO06X16 M4 20 42 18 21,5 14 46,4 55
K2224.02202 AHQIBA AR 1.4305 15 MO06X16 M4 22 46 20 22,5 12 481 55
K2224.02502 AHQIBA AR 1.4305 15 MO06X16 M4 25 48 21 23 125 50,8 55
K2224.02802 AHQlE|A AE 1.4305 15 MO06X16 M5 28 54 225 29 18,5 - 7
K2224.03002 AE|ClIEA AE 1.4305 15 M6x18 M5 30 56 24 28,5 18 58,6 7
K2224.03202 AHQIBA AR 1.4305 15 M6x18 M5 32 58 25 29 18 58,6 7
K2224.03502 AHQIP|A AE 1.4305 15 M6x18 M5 35 60 26 30 20 616 7
K2224.03802 AE|ClIEA AE] 1.4305 15 M6x18 M5 38 66 27 37 27 - 7
K2224.04002 AHQIBA AR 1.4305 15 M6x18 M5 40 66 27 37 27 - 7
K2224.04502 AE|QlEA A 1.4305 19 M8x25 M6 45 76 @ 31 415 28 794 85
K2224.05002 AE|ClEA AE] 1.4305 19 M8x25 M6 50 82 345 435 29 84,2 85
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



